ﬁ, T o D e A T T 0 o o o A o o 8 o o A o A T A T 0 o A o A e A e A e &0 & o

85lalS osasds -

(%) 0565657741

2389 ¢4 hBLS

Pl S\D g9 zblas -
851 @lzs 29 jaims Juples -

dolaill

R

997 90 32 oS  pinlis &1 12 -
O

Sasiyblg 65 1al8 Pdf

o8y SThy ))ab1 &

) 0567630097

3
m.
7
-

Cﬁ.’smﬂ

@\ Lt O /‘\ — /’\ — /’\ — /’\ — /’\ — /‘\ — /’\ — /’\ — /‘\ et O3 /’\ — /’\ — /’\ et O /‘\ et O /’\ — /’\ Lt O /‘\ — /‘\ et O /’\ Lt O3 /‘\ — /‘\ et O /’\ — /‘\ L O

2

mrahmedmahdy.com 00201024041097 - 00201096019763

&



Question 1:

Find (a) the voltage Vo in the circuit in Fig. 1. and (b) the power absorbed by the

dependent source.
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Question 2:

Find voltage v and current 7 in the circuit of Fig. 2. using nodal analysis method.
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Question 3:

Using mesh analysis, find current Jo in the circuit of Fig. 3. Then, calculate the
power dissipated in 6 ohms.

6 Q
7 MWW
(. _U1_ T r | | Wattmeter-XWM1 > )
E RN ; is
Loc 1e-090hm J| o Poner factor: | IRICISEONN 0 ‘ 40 30
77777 Voltage Current
. N FE .- M AW
@ - e — ‘
Vi LR4 16V _> 2 Q) + 10i
=1V 220 A v il ;
00 P 5
=
T, -7, *

1+ (L =LY 4+ 2( L) = ¢
b, -tl, -d¢ =1l SO
201, =) +» 81l -Ls) ../ez\z-’_- 0
2! +)ely -8 =0 =
Bl + 8¢ Lg-2,y + ¥ (Llg =L) T o
-~ dl, -5, + 18 L 2o >3

-2.5%4 , - 214, i3 = - 44

I
W

»
n
~




Ll

N

Question 4:
Use the superposition principle to find voltage Vo and current Jo in the circuit of Fig. 4.
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